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Q. D, E, F are respectively the mid
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Q. ﬁw_{:ﬁ'ﬁgﬁ-l\fl 6 :5:7:9 & ST
ﬁ'%’@ﬂ\ﬂ F f)@ SRR ECEEEL
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Q. The angles @drilateral

are in the ratio 3:5:7:9. What is the
dlfferencigwpegt siallest (a) 50°

and the

quadrilater (c) 72°
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) Q. T T =9t % HI0T T
j3w+@")ﬁw =T o x,3x+20 TAT 6x g,
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Q. If the measures of the
angles of a triangle are x,
3x+20 and 6x in degrees,

(R ﬁm@tri'a%@@&é{t@e

angle triangle
) HehRToT BArsT/right

\(\a/ﬂgf ed triangle
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Q. APQR #, PQ=4 9#t, PR=6
qHT ST QR=3 gt g A= d#
HI-97 T 272

Q. In APQR, PQ=4 cm, PR=6
cm and QR=3 cm. Which of

e following if@ud? > <Q
«Q>/R

£) 2Q = R

X@) <R</P
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Q. feT T == § AB=AC 3T LAACD=105° g, a9
/BAC F79Y g-
Q. In the given figkre AB=AG amd £/ACD=105e,

then «.BAC is equgl to- Aa) 30°
—— "(b) 60°
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Q. % = ° X*+y° &7 94714 ¢- T]
Q. In the following figure, the value
L OEX A58t A SARD Aa)
— R0’ —~ (15)0750
W (c) 90"

= 1Rp° ) :
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Q. ADEF T APQR #H, If< PQ=DE, EE=PR,

m——

AT FD=QR g, T4-
Q. In ADEF and APQR, if PQ=DE, EF=PR,
and FD=QR, then- %g) ADEF=ARPQ
58T =(b) ADEF=AQPR
/5\5:2 /\ ) ABE F%Q RP
fé) ADEF=APQR
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Q. fTg 1o == #, PS=SQ=SR =T .SPQ=54°, «x
T /1T ST hioTd-
Q. In the given figure, PS=

SEPrFsmitbenes

SR and
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Q. T FRET I o hex & 12 HHT.
T g2 9T {2 strar i s 10
qHT. 2T, 97 I T ATH gTT-

Q. If the length of the chord
located at a distance of 12 cm
from the center of a circle is 10

CLI'C«
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Q. == # &I a FT A9 g (8T O I T]
T s B)-
Q. The value of angle a in the figure
is (where O is the-8enter of the (/::D\>
circle)- Q W €Y
= <0
(a) 60°
(b) 20°
\\4(27 30°
d) 40°
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Q. 7T AABC 3iX ADEF §Ha CABoEDF &

SaIa HolT*lHﬁ'ErQ FI-9T T Aol 87
Q. If AABC and ADEF are congruent under
the correspondence CAB~EDF, then which of

the followingigyRidrue? C )= {8) B=.F
—— LN —= 4Bb=<

o N an ) AC=DE
Eor 1S =ED -

B =DF —f) «A=,D
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Q. s #, ABC U =9t g1 LABD #t
oy foeft o 2-
Q. In figure, ABC is a triangleQfhe

(a) 72
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